

Integral operators on certain classes of analytic functions with negative coefficients

V. C. HOLHOȘ and GRIGORE S. SĂLĂGEAN

ABSTRACT. In this paper integral properties of some analytic functions with negative coefficients from certain classes of functions defined using a differential operator are studied. The obtained results are sharp and they are improvement of some known results.

1. INTRODUCTION

Let $\mathbb{N} = \{0, 1, \dots, n, \dots\}$, $\mathbb{N}_2 = \mathbb{N} \setminus \{0, 1\}$ and let \mathcal{N} be the class of functions of the form

$$(1.1) \quad f(z) = z - \sum_{k=2}^{\infty} a_k z^k, \quad a_k \geq 0, \quad k \in \mathbb{N}_2,$$

that are analytic in the open unit disc $U = \{z : |z| < 1\}$.

Definition 1.1. [3] We define the operator $D^n : \mathcal{N} \rightarrow \mathcal{N}$, $n \in \mathbb{N}$, by

$$\text{a) } D^0 f(z) = f(z); \text{ b) } D^1 f(z) = Df(z) = zf'(z); \text{ c) } D^n f(z) = D(D^{n-1}f(z)), \quad z \in U.$$

Definition 1.2. [1] Let $\alpha \in [0, 1)$, $\beta \in (0, 1]$, $1 \leq A < B \leq 1$, $B > 0$, $B/(B - A) \leq \gamma \leq B/[\alpha(B - A)]$ when $\alpha \neq 0$, $B/(B - A) \leq \gamma \leq 1$ when $\alpha = 0$, $n \in \mathbb{N}$, $\lambda \geq 0$. We say that a function $f \in \mathcal{N}$ is in the class $T_{n,\lambda}(A, B, \alpha, \beta, \gamma)$ if and only if

$$(1.2) \quad \left| \frac{\frac{zG'_{n,\lambda}(z)}{G_{n,\lambda}(z)} - 1}{(B - A)\gamma \left[\frac{zG'_{n,\lambda}(z)}{G_{n,\lambda}(z)} - \alpha \right] - B \left[\frac{zG'_{n,\lambda}(z)}{G_{n,\lambda}(z)} - 1 \right]} \right| < \beta, \quad z \in U$$

where

$$(1.3) \quad G_{n,\lambda}(z) = (1 - \lambda)D^n f(z) + \lambda D^{n+1} f(z), \quad f \in \mathcal{N}.$$

Remark 1.1. The class $T_{0,0}(-1, 1, 0, 1, 1/2)$ reduces to the class of functions $f \in \mathcal{N}$ that satisfy $|zf'(z)/f(z) - 1| < 1$, $z \in U$, namely these functions are starlike (see [4]). In [1] it is proved that $T_{n,\lambda}(A, B, \alpha, \beta, \gamma) \subset T_{0,0}(-1, 1, 0, 1, 1/2)$, namely all functions in $T_{n,\lambda}(A, B, \alpha, \beta, \gamma)$ are starlike ($\alpha \in [0, 1)$, $\beta \in (0, 1]$, $-1 \leq A < B \leq 1$, $B > 0$, $B/(B - A) \leq \gamma \leq B/[\alpha(B - A)]$ when $\alpha \neq 0$, $B/(B - A) \leq \gamma \leq 1$ when $\alpha = 0$, $n \in \mathbb{N}$, $\lambda \geq 0$).

Remark 1.2. The class $T_{n,\lambda}(A, B, \alpha, \beta, \gamma)$ when $0 < \gamma \leq B/(B - A)$ is studied in [1] and [2].

Received: 23.05.2005; In revised form: 02.11.2005

2000 Mathematics Subject Classification: 30C45.

Key words and phrases: Analytic functions, negative coefficients, starlike functions, differential operator, integral operator.

In order to prove our main results we need the next characterization theorem of the class $T_j(n, m, \lambda, \alpha)$ ([1]).

Theorem 1.1. *Let $\alpha \in [0, 1)$, $\beta \in (0, 1]$, $n \in \mathbb{N}$, $\lambda \geq 0$, $-1 \leq A < B \leq 1$, $B > 0$, $B/(B-A) \leq \gamma \leq B/[\alpha(B-A)]$ when $\alpha \neq 0$, $B/(B-A) \leq \gamma \leq 1$ when $\alpha = 0$. Then a function $f \in \mathcal{N}$ of the form (1.1) is in the class $T_{n,\lambda}(A, B, \alpha, \beta, \gamma)$ if and only if*

$$(1.4) \quad \sum_{k=2}^{\infty} \frac{k^n [1 + \lambda(k-1)] [(k-1) - \beta B(k-1) + \beta\gamma(B-A)(k-\alpha)]}{\beta\gamma(B-A)(1-\alpha)} a_k \leq 1.$$

The result is sharp.

The extremal functions are

$$(1.5) \quad f_{k;\alpha,\beta,\gamma}(z) = z - \frac{\beta\gamma(B-A)(1-\alpha)}{k^n [1 + \lambda(k-1)] [k-1 - \beta B(k-1) + \beta\gamma(B-A)(k-\alpha)]} z^k, \quad k \in \mathbb{N}_2.$$

For $c \in (-1, \infty)$ let $I_c : \mathcal{N} \rightarrow \mathcal{N}$ be the integral operator defined by $g = I_c(f)$, where $f \in \mathcal{N}$ and

$$g(z) = \frac{c+1}{z^c} \int_0^z t^{c-1} f(t) dt.$$

We note that if $f \in \mathcal{N}$ is a function of the form (1.1), then

$$(1.6) \quad g(z) = I_c(f)(z) = z - \sum_{k=j+1}^{\infty} \frac{c+1}{c+k} a_k z^k, \quad z \in U.$$

By using Theorem 1.1 in [1] it is proved that $I_c(T_{n,\lambda}(A, B, \alpha, \beta, \gamma)) \subset T_{n,\lambda}(A, B, \alpha, \beta, \gamma)$. In this paper the mentioned result is improved.

2. INTEGRAL PROPERTIES OF THE CLASS $T_{n,\lambda}(A, B, \alpha, \beta, \gamma)$ CONCERNING THE PARAMETER α

Theorem 2.2. *Let $\alpha \in [0, 1)$, $\beta \in (0, 1]$, $n \in \mathbb{N}$, $\lambda \geq 0$, $-1 \leq A < B \leq 1$, $B > 0$, $B/(B-A) \leq \gamma \leq B/[\alpha(B-A)]$ when $\alpha \neq 0$, $B/(B-A) \leq \gamma \leq 1$ when $\alpha = 0$ and let $c \in (-1, \infty)$. If $f \in T_{n,\lambda}(A, B, \alpha, \beta, \gamma)$ and $g = I_c(f)$, then $g \in T_{n,\lambda}(A, B, \alpha^*, \beta, \gamma)$, where*

$$(2.1) \quad \alpha^* = 1 - \frac{(c+1)(1-\alpha)[1 - \beta B + \beta\gamma(B-A)]}{(c+1)[1 - \beta B + \beta\gamma(B-A)] + 1 - \beta B + \beta\gamma(B-A)(2-\alpha)}$$

and $\alpha < \alpha^* < 1$. The result is sharp.

Proof. From Theorem 1.1 and from (1.6) we have $g \in T_{n,\lambda}(A, B, \alpha^*, \beta, \gamma)$ if and only if

$$(2.2) \quad \sum_{k=2}^{\infty} \frac{k^n [1 + \lambda(k-1)] [k-1 + \beta\gamma(B-A)(k-\alpha^*) - \beta B(k-1)]}{\beta\gamma(B-A)(1-\alpha^*)} \frac{c+1}{c+k} a_k \leq 1.$$

We find the largest α^* such that (2.2) holds. We note that the inequalities

$$(2.3) \quad \frac{c+1}{c+k} \frac{k-1 + \beta\gamma(B-A)(k-\alpha^*) - \beta B(k-1)}{1-\alpha^*} \leq \frac{(k-1)(1-\beta B) + \beta\gamma(B-A)(k-\alpha)}{1-\alpha}, \quad k \in \mathbb{N}_2,$$

imply (2.2), because $f \in T_{n,\lambda}(A, B, \alpha, \beta, \gamma)$ and it satisfies (1.4). But the inequalities (2.3) are equivalent to

$$(2.4) \quad [(c+k)\varphi(k) - (c+1)(1-\alpha)\beta\gamma(B-A)]\alpha^* \leq \\ \leq (c+k)\varphi(k) - (c+1)(1-\alpha)[(k-1)(1-\beta B) + \beta\gamma(B-A)k], \quad k \in \mathbb{N}_2,$$

where

$$(2.5) \quad \varphi(x) = (x-1)(1-\beta B) + \beta\gamma(B-A)(x-\alpha), \quad x \in [2, \infty).$$

We note that

$$(2.6) \quad \varphi(x) \geq x-1+\beta B(1-\alpha) \quad \text{and} \quad \varphi'(x) = 1+\beta[\gamma(B-A)-B] \geq 1, \quad x \in [2, \infty),$$

because $B/(B-A) \leq \gamma$.

Since $B/(B-A) \leq \gamma$ we have

$$(c+k)\varphi(k) - (c+1)(1-\alpha)\beta\gamma(B-A) \geq \\ \geq (c+k)[k-1+\beta B(1-\alpha)] - (c+1)(1-\alpha)\beta B = \\ = (k-1)[c+k+\beta B(1-\alpha)] \geq (k-1)(c+k), \quad k \in \mathbb{N}_2.$$

Hence

$$(2.7) \quad (c+k)\varphi(k) - (c+1)(1-\alpha)\beta\gamma(B-A) > 0, \quad k \in \mathbb{N}_2.$$

From (2.4) and (2.7) we obtain that

$$\alpha^* \leq E(k) = \frac{(c+k)\varphi(k) - (c+1)(1-\alpha)(k-1)[1-\beta B + \beta\gamma(B-A)]}{(c+k)\varphi(k) - (c+1)(1-\alpha)\beta\gamma(B-A)}, \quad k \in \mathbb{N}_2.$$

We show that $E(k) \geq E(2)$, $k \in \mathbb{N}_2$. Let

$$(2.8) \quad F(x) = \frac{(c+x)\varphi(x) - (c+1)(1-\alpha)\beta\gamma(B-A)}{(c+1)(1-\alpha)[1-\beta B + \beta\gamma(B-A)](x-1)}, \quad x \in [2, \infty).$$

We have

$$(2.9) \quad F(x) = \frac{c+x}{(c+1)(1-\alpha)} + \frac{\beta\gamma(B-A)(1-\alpha)}{(c+1)(1-\alpha)[1-\beta B + \beta\gamma(B-A)]}$$

and since

$$F'(x) = \frac{1}{(c+1)(1-\alpha)} > 0$$

we deduce that F is an increasing function in $[2, \infty)$. But $E(k) = 1 - 1/F(k)$, so $E(k) \geq E(2)$, $k \in \mathbb{N}_2$. Thus $\alpha^* = E(2)$ is given by (2.1) and it satisfies (2.4), (2.3) and (2.2). Consequently, $g \in T_{n,\lambda}(A, B, \alpha^*, \beta, \gamma)$.

From (2.9) we have $F(2) > 0$ and since $\alpha^* = 1 - 1/F(2)$ we deduce that $\alpha^* < 1$.

We also have

$$(2.10) \quad \alpha^* - \alpha = \frac{(1-\alpha)[1-\beta B + \beta\gamma(B-A)(1-\alpha)]}{(c+1)[1-\beta B + \beta\gamma(B-A)] + 1 - \beta B + \beta\gamma(B-A)(2-\alpha)} > 0.$$

The result is sharp because

$$(2.11) \quad I_c(f_{2;\alpha,\beta,\gamma}) = f_{2;\alpha^*,\beta,\gamma},$$

where the function

$$f_{2;\alpha,\beta,\gamma}(z) = z - \frac{\beta\gamma(B-A)(1-\alpha)}{2^n(1+\lambda)\varphi(2)}z^2, \quad z \in U,$$

is an extremal function of $T_{n,\lambda}(A, B, \alpha, \beta, \gamma)$ (see (1.5)) and the function

$$f_{2;\alpha^*,\beta,\gamma}(z) = z - \frac{\beta\gamma(B-A)(1-\alpha^*)}{2^n(1+\lambda)[1-\beta B + \beta\gamma(B-A)(2-\alpha^*)]} z^2, \quad z \in U,$$

is an extremal function of $T_{n,\lambda}(A, B, \alpha^*, \beta, \gamma)$.

Indeed,

$$(2.12) \quad I_c(f_{2;\alpha,\beta,\gamma})(z) = z - \frac{(c+1)\beta\gamma(B-A)(1-\alpha)}{(c+2)2^n(1+\lambda)\varphi(2)} z^2, \quad z \in U,$$

and we have to prove that

$$(2.13) \quad \frac{1-\alpha^*}{1-\beta B + \beta\gamma(B-A)(2-\alpha^*)} = \frac{(c+1)(1-\alpha)}{(c+2)\varphi(2)},$$

where $\varphi(2) = 1 - \beta B + \beta\gamma(B-A)(2-\alpha)$. By simple computations we obtain

$$1-\alpha^* = \frac{(c+1)(1-\alpha)[1-\beta B + \beta\gamma(B-A)]}{(c+2)\varphi(2) - (c+1)(1-\alpha)\beta\gamma(B-A)},$$

$$2-\alpha^* = \frac{(c+2)\varphi(2) + (c+1)(1-\alpha)(1-\beta B)}{(c+2)\varphi(2) - (c+1)(1-\alpha)\beta\gamma(B-A)},$$

$$\begin{aligned} 1-\beta B + \beta\gamma(B-A)(2-\alpha^*) &= \\ &= \frac{(c+2)\varphi(2)(1-\beta B) + (c+2)\varphi(2) + \beta\gamma(B-A)}{(c+2)\varphi(2) - (c+1)(1-\alpha)\beta\gamma(B-A)} = \\ &= \frac{(c+2)\varphi(2)[1-\beta B + \beta\gamma(B-A)]}{(c+2)\varphi(2) - (c+1)(1-\alpha)\beta\gamma(B-A)} \end{aligned}$$

and now (2.13) follows obviously. \square

3. INTEGRAL PROPERTIES CONCERNING THE PARAMETER β

Theorem 3.3. *Let $\alpha \in [0, 1)$, $\beta \in (0, 1]$, $n \in \mathbb{N}$, $\lambda \geq 0$, $-1 \leq A < B \leq 1$, $B > 0$, $B/(B-A) \leq \gamma \leq B/[\alpha(B-A)]$ when $\alpha \neq 0$, $B/(B-A) \leq \gamma \leq 1$ when $\alpha = 0$ and let $c \in (-1, \infty)$. If $f \in T_{n,\lambda}(A, B, \alpha, \beta, \gamma)$ and $g = I_c(f)$, then $g \in T_{n,\lambda}(A, B, \alpha, \beta^*, \gamma)$, where*

$$(3.14) \quad \beta^* = \frac{(c+1)\beta}{c+2 + \beta\gamma(B-A)(2-\alpha) - \beta B}$$

and $0 < \beta^* < \beta$. The result is sharp.

Proof. From Theorem 1.1 and from (1.6) we have $g \in T_{n,\lambda}(A, B, \alpha, \beta^*, \gamma)$ if and only if

$$(3.15) \quad \sum_{k=2}^{\infty} \frac{k^n [1+\lambda(k-1)] [(k-1)(1-\beta^*B) + \beta^*\gamma(B-A)(k-\alpha)]}{\beta^*\gamma(B-A)(1-\alpha)} \frac{c+1}{c+k} a_k \leq 1.$$

We find the smallest β^* such that (3.15) holds. We note that the inequalities

$$(3.16) \quad \frac{c+1}{c+k} \frac{(k-1)(1-\beta^*B) + \beta^*\gamma(B-A)(k-\alpha)}{\beta^*} \leq \\ \leq \frac{(k-1)(1-\beta B) + \beta\gamma(B-A)(k-\alpha)}{\beta}, \quad k \in \mathbb{N}_2$$

imply (3.15), because $f \in T_{n,\lambda}(A, B, \alpha, \beta, \gamma)$ and it satisfies (1.4).

But (3.16) can be rewritten (for all $k \in \mathbb{N}_2$) as

$$(3.17) \quad (c+1)\beta(k-1) \leq (k-1)[(c+k)\beta\gamma(B-A)(k-\alpha) - \beta B(k-1)]\beta^*,$$

or, equivalently,

$$\beta^* \geq G(k) = \frac{(c+1)\beta}{c+k+\beta\gamma(B-A)(k-\alpha) - \beta B(k-1)}, \quad k \in \mathbb{N}_2.$$

Since $c+k+\beta\gamma(B-A)(k-\alpha) - \beta B(k-1) = [1+\beta\gamma(B-A) - \beta B]k + c - \alpha\beta\gamma(B-A) + \beta B$ and $1 + \beta\gamma(B-A) - \beta B \geq 1$, we deduce that $G(k)$ is a decreasing function of k and $G(2) \geq G(k)$, $k \in \mathbb{N}_2$. Thus $\beta^* = G(2)$ is given by (3.14) and it satisfies (3.16) and (3.15). Consequently $g \in T_{n,\lambda}(A, B, \alpha, \beta^*, \gamma)$.

The relation $\beta^* < \beta$ is equivalent to $1 + \beta\gamma(B-A)(2-\alpha) - \beta B > 0$ and this is true when $\gamma \geq B/(B-A)$ (see (2.10)).

The result is sharp because

$$(3.18) \quad I_c(f_{2;\alpha,\beta,\gamma}) = f_{2;\alpha,\beta^*,\gamma}.$$

Indeed,

$$f_{2;\alpha,\beta^*,\gamma}(z) = z - \frac{\beta^*\gamma(B-A)(1-\alpha)}{2^n(1+\lambda)[1+\beta^*[\gamma(B-A)(2-\alpha) - B]]} z^2, \quad z \in U,$$

and we have to prove that (see (3.18) and (2.12))

$$(3.19) \quad \frac{\beta^*}{1+\beta^*[\gamma(B-A)(2-\alpha) - B]} = \frac{(c+1)\beta}{(c+2)\varphi(2)}.$$

By simple computation we obtain

$$1 + \beta^*[\gamma(B-A)(2-\alpha) - B] = \\ = \frac{c+2+\beta\gamma(B-A)(2-\alpha) - \beta B + (c+1)\beta\gamma(B-A)(2-\alpha) - (c+1)\beta B}{c+2+\beta\gamma(B-A)(2-\alpha) - \beta B} = \\ = \frac{(c+2)[1+\beta\gamma(B-A)(2-\alpha) - \beta B]}{c+2+\beta\gamma(B-A)(2-\alpha) - \beta B} = \frac{(c+2)\varphi(2)}{c+2+\beta\gamma(B-A)(2-\alpha) - \beta B}$$

and now (3.19) follows obviously. \square

4. INTEGRAL PROPERTIES CONCERNING THE PARAMETER γ

Theorem 4.4. Let $\alpha \in [0, 1)$, $\beta \in (0, 1]$, $n \in \mathbb{N}$, $\lambda \geq 0$, $-1 \leq A < B \leq 1$, $B > 0$, $B/(B-A) \leq \gamma \leq B/[\alpha(B-A)]$ when $\alpha \neq 0$, $B/(B-A) \leq \gamma \leq 1$ when $\alpha = 0$ and let $c \in (-1, \infty)$. If $f \in T_{n,\lambda}(A, B, \alpha, \beta, \gamma)$ and $g = I_c(f)$, then $g \in T_{n,\lambda}(A, B, \alpha, \beta, \gamma^*)$,

$$(4.20) \quad \gamma^* = \max \left\{ \frac{(c+1)(1-\beta B)\gamma}{(c+2)(1-\beta B) + \beta\gamma(B-A)(2-\alpha)}; \frac{B}{B-A} \right\},$$

and $0 < \gamma^* \leq \gamma$. *The result is sharp.*

Proof. From Theorem 1.1 and from (1.6) we have $g \in T_{n,\lambda}(A, B, \alpha, \beta^*, \gamma)$ if and only if

$$(4.21) \quad \sum_{k=2}^{\infty} \frac{k^n [1 + \lambda(k-1)] [(k-1)(1-\beta B) + \beta\gamma^*(B-A)(k-\alpha)] \frac{c+1}{c+k} a_k}{\beta\gamma^*(B-A)(1-\alpha)} \leq 1.$$

We find the smallest γ^* such that (4.21) holds. We note that the inequalities

$$(4.22) \quad \frac{c+1}{c+k} \frac{(k-1)(1-\beta B) + \beta(B-A)(k-\alpha)\gamma^*}{\gamma^*} \leq \\ \leq \frac{(k-1)(1-\beta B) + \beta(B-A)(k-\alpha)\gamma}{\gamma}, \quad k \in \mathbb{N}_2,$$

imply (4.21), because $f \in T_{n,\lambda}(A, B, \alpha, \beta, \gamma)$ and it satisfies (1.4). But the inequalities (4.22) can be rewritten (for all $k \in \mathbb{N}_2$) as

$$\gamma^* \geq H(A, B, \alpha, \beta, \gamma, c; k) = \frac{(c+1)(1-\beta B)\gamma}{(c+k)(1-\beta B) + \beta\gamma(B-A)(k-\alpha)}, \quad k \in \mathbb{N}_2.$$

We have $(c+k)(1-\beta B) + \beta\gamma(B-A)(k-\alpha) = [1-\beta B + \beta\gamma(B-A)]k + c(1-\beta B) - \alpha, \beta\gamma(B-A)$ and since $1-\beta B + \beta\gamma(B-A) \geq 1$ we obtain that

$$\max\{H(A, B, \alpha, \beta, \gamma, c; k); k \in \mathbb{N}_2\} = H(A, B, \alpha, \beta, \gamma, c; 2).$$

The inequalities (4.22) hold for each γ^* belonging to the interval $[H(A, B, \alpha, \beta, \gamma, c; 2); \gamma]$. It is easy to see that $H(A, B, \alpha, \beta, \gamma, c; 2) < \gamma$. For appropriate values of parameters, $H(A, B, \alpha, \beta, \gamma, c; 2)$ can be less or greater than $B/(B-a)$. We obtain that the inequalities (4.22) hold for $\gamma^* = \max\{B/(B-a); H(A, B, \alpha, \beta, \gamma, c; 2)\}$. In order to prove that the result is sharp we show that, for $\gamma^* = H(A, B, \alpha, \beta, \gamma, c; 2)$

$$(4.23) \quad I_c(f_{2;\alpha,\beta,\gamma}) = f_{2;\alpha,\beta,\gamma^*}.$$

We have

$$(4.24) \quad f_{2;\alpha,\beta,\gamma^*}(z) = z - \frac{\beta\gamma^*(B-A)(1-\alpha)}{2^n(1+\lambda)[1+\beta[\gamma^*(B-A)(2-\alpha)-B]]} z^2, \quad z \in U.$$

By a simple computation we obtain

$$(4.25) \quad \frac{\gamma^*}{1-\beta B + \beta\gamma^*(B-A)(2-\alpha)} = \frac{(c+1)\gamma}{(c+2)\varphi(2)}.$$

Combining (4.24), (2.12) and (4.25) we obtain (4.23). \square

REFERENCES

- [1] Holhoş, A. A., *Classes of univalent functions with negative coefficients*, Studia Univ. "Babeş-Bolyai", Mathematica, **48** (2003), nr. 4, 33-42.
- [2] Holhoş, A. A. and Sălăgean, G. S., *Integral properties of certain classes of analytic functions with negative coefficients*, PUMA (submitted).
- [3] Sălăgean, G. S., *Subclasses of univalent functions*, Complex Analysis - Fifth Romanian-Finnish Seminar, Bucarest 1981, Lecture Notes in Math. **1013**, Springer Verlag 1983, 362-372.
- [4] Silverman, H., *Univalent functions with negative coefficients*, Proc. Amer. Math. Soc. **51** (1975), 109-116.

HIGH SCHOOL HUNEDOARA
ROMANIA
E-mail address: vholhos@yahoo.com

BABEŞ-BOLYAI UNIVERSITY
FACULTY OF MATHEMATICS AND COMPUTER SCIENCE
M. KOGĂLNICEANU, 1
400084 CLUJ-NAPOCA, ROMANIA
E-mail address: salagean@math.ubbcluj.ro